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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]

I 1
3500 4 —_—— EchExp :
—>é—  ECdef 1
3000 4 —¢— EcParam :
—$— water_ec 1
2500 it T T T T T T TR TR TR UT Y'Y,
20004 X 2
1500 :
1
1000 :
Warning: col [ Echgro’, 'EcPltng’] is missing
500 1

0 25 50 75 100 125 150 175



3500

3000

2500

2000

1500

1000

500

Plot [ ECopt’]

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-1

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 R

06:30 179 100.0 2.16 | =| 7iH#Ae06:30 KRHEF (KRAFEHE)
07:30 179 100.0 2.16 | =| FHAe07:30 KREEF (RAFEHE)
09:00 179 100.0 2.16 [2=| FHA@09:00 KREIEF CGRAEESE)
10:25 179 100.0 2.16 (& =| FHHA@10:25 KENFZEF (RAIEEEE)
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15:25 179 100.0 2.16 [/\fRI| FiHBe15:25 RFIEF (KRAERSE)
17:10 179 100.0 2.16 |/\i| FhHR@17:10 kEFEF (RAEREE)
21t 1611.0 (9%) 900. 0 3EHKEC: 2700, PH: 6.2
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FREVE S KiFHKPH 6. 25
FRBIFE NS R IFEREC 2700. 0




ET (ml/hr/plant)

G3-1_0, Day=33 (2025-06-14)
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G3-1
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05:55 200 100.0 2.16 FA| 1BRi&@05:55 B3h (FKAIEREEE)
06:55 200 100.0 2.16 |Z=| {Ri%e06:55 Bz (KREAEZEHE)
07:55 200 100.0 2.16 |Z=| {Ri&e07:55 Bz (REEZERE)
08:55 200 100.0 2.16 (& =| {Rige08:55 Bz (KRAEHSE)
09:55 200 100.0 2.16 |Z=| {Ri%e09:55 Bz (KREAEZEBE)
10:55 200 100.0 2.16 BH| 1Bi&@10:55 Bzh (RAERE)
13:35 200 100.0 2.16 FA| 1BRi%@13:35 B3h (KRAERSE)
14:45 200 100.0 2.16 FH| 1Rige14:45 Bzh (CGRAEREE)
23t]1600.0 (8%) 800. 0 IHKEC: 2250, PH: 6.4

EREBRIERLLFRAK (0.59 vs 0.53)), AIREE ZREIEREEIRK

ZRIASEPRERE100. 0 ml.
large discrepency for begining water status (381:192.0), set to 381 ml.
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G3-1_0, Day=32 (2025-06-13)
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G3-1

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

05:30 306 100.0 2.16 FE| 1RRi%@05:30 Bzl (KRS
06:30 306 100.0 2.16 PH| 1{Ri%@06:30 Bz (RAEEES)
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14:55 306 100.0 2.16 FA| {Ri%@14:55 Bz GGRAEEE)
16:50 306 100.0 2.16 |Z=| {Ri%e16:50 Bz (REAEZBE)
2i3t|2142.0 (%) 700.0 EGHIKEC: 2250, PH: 6.5

FORGEBAT SR AR B2 Y (306 vs 189.0))

PRIALPRIERE162.0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10.3,6.5, RERK
RERERIPH (10.28) H5igEPH (6.5) REK K, HFRE
BEXRERIPH (10.28) 5FMPH (6.5) REK K, HRE

RAE NS KFHRPH 6.5

TRBVE NS RIFREC 2250.0
EGERPH (9.7) 5i8EE (6.5 REKK, FHE.
LRGERIPH (9.7) S5HEBVEY (6.5) REKK, BRE.
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G3-1

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

07:35 306 100. 0 2.16 E BRi&e07:35 Ba1 (GRAERERE)
08:25 306 100.0 2.16 F  BRi%e08:25 BE1 (RAEREE)
09:45 306 100.0 2.16 S| {Ri%@09:45 B3 (RAERSE)
10:50 306 100.0 2.16 F BRi%e10:50 Bz (GRAERERE)
11:45 306 100.0 2.16 = Rige11:45 Bah (GRAEESE)
12:45 306 100.0 2.16 = {Rige12:45 B3 (RAERSE)
13:35 306 100.0 2.16 E BRi&e13:35 Bz (GRAERESE)
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BRIASLPRIERE159. 0 ml. ‘
MERMEAEHB9IRE, i B RPHA B 46.5,10.3,6.5, RERK

RERSERIPH (10.35) 5i&EPH (6.5 REK K, HHRE
REXRGEBIPH (10.35) 5FIPH (6.5) REKK, BHRE

REE NS K RPH 6.5

FH[EKECE (2607.0 vs 3643.0) RS
FRAVE Y S K FHREC 2250. 0
LORGEBIPH (10.2) 5i1&EE (6.5) WERK, BRE.
LEORGEREPH (10.2) S5iRBE (6.5) REK K, HEE.
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G3-1

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

06:40 283 100.0 2.16 5| {Ri%e06:40 B3 (FRFAMERSE)
07:40 283 100.0 2.16 = RRiB007:40 Bz (RFAEEE)
08:40 283 100.0 2.16 5| {Ri%@08:40 Bz (KRAMERSE)
10:00 283 100.0 2.16 5| {Ri%@10:00 B3 (RAERSE)
11:10 283 100. 0 2.16 El BRige11:10 Bz GRAEESE)
12:25 283 100.0 2.16 Sl {Rige12:25 B3 (REAERSE)
13:25 283 100.0 2.16 E| {Rige13:25 Bah (RE{ERSE)
14:20 283 100.0 2.16 E BRige14:20 Bz CGRAERESE)
15:20 283 100.0 2.16 S| {Rige15:20 B3 (RAERSE)
16:30 283 100. 0 2.16 F BRi%e16:30 Bzl (GRAERERE)
23t 2830.0 (100%) 1000. 0 EIHKEC: 2250, PH: 6.5

LRGEBET R IR IETR 3N (283 vs 192.0))
ZRIASLPRIERE147. 0 ml.

MERMEAEHB9IRE, i B &RPHA BI46.5,10.3,6.0, RERK
REXRERIPH (10.34) 5i&EPH (6.5) REKK, HRE
BEXREBIPH (10.34) 5FMPH (6.5) REK K, HRE

REE NS K RPH 6.5

FHEIKECE (2677.0 vs 4278.0) 1R
FRAVE Y S K FHREC 2250. 0
LORGEBIPH (10.4) 5i1&EE (6.5) WERK, BRE.
LEORGERIPH (10.4) S5iRBE (6.5) REK K, HEE.
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